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g]kfn ;/sf/ k|b]z ;/sf/ :yfgLo tx

!      cfly{s ljsf;

@ ;fdflhs ljsf;

2.1 9':s] cf?af]6 vfg]kfgL d{dt 80000

2.2 e';'g] s{sn] vfg]kfgL d{dt 10000

2.3 tNnf]6f/ O{Gb|]0fL vf]N;f vfg]kfgL d{dt 30000

2.4 Rofg8fF8f vfg]kfgL O{G6]s d{dt 30000

2.5 ;fpg] blnt a:tL vfg]kfgL d{dt 50000

2.6 nfdL 8fF8f ltnvf]/Lof vfg]kfgL d{dt 50000

2.7 dfemuNnL vfg]kfgL d'xfgdf 6\ofÍL lgdf{0f 50000

2.8 ef]u6LgL /fDk'/ vfg]kfgL dd{t 50000

2.9 dxeL/ vfg]kfgL dd{t 100000

2.10 dfemuNnL vfg]kfgL wf/f lgdf{0f 50000

2.11 emu/k'/ vfg]kfgL d{dt 100000

2.12 gfuyfg 6\ofÍL lgdf{0f 50000

hDdf 650000

# k"jf{wf/ ljsf;

3.1 7'nf lkkn l;Dn]a];L k}bnaf6f] dd{t 50000

3.2 tNnf]6f/ 8'F8] uf]/]6f]af6f] d{dt 25000

3.3 lh/f] KjfO{G6 af6 uf]]laGb km'onsf] 3/ x'Fb} b]p/fnL hf]8\g] ;8s 400000

3.4 dªSofgf b]vL 5]paf/L ;Dd uf]/]6f]af6f] dd{t 75000
3.5 sfkmnaf]]6 xf]Nk' ld;g xl:k6n ;8s 400000
3.6 sfnf]kfgL dlGb/ ;Dd hfg] ;8s 200000

3.7 Rofg8fF8f afx|aL; ;8s lgdf{0f 400000
3.8 uf}/LufpF tf]/L :jfF/f ;8s lgdf{0f 400000

3.9 lvnfsf] uf}F8fb]lv ladnsf] uf}F8f ;Dd ;8s ;f]lnª 100000



3.1 auf}t] b]lv rfnL; s'nf ;Dd ;8s hfnL eg]{ 50000

3.11 kf/; 3/af6 xl:k6n;Dd ;8s ;f]lnª 100000

3.12 emu/k'/ vf]nfaf6 kfgL lnkm\l6ª–tNnf]6f/ 100000
3.13 8'F8]a];L s'nf] d{dt 100000

3.14 s';'g] 9'Ëfb]lv O{Gb|]]0fL vf]N;f dfems'nf] d{dt 50000
3.15 tNnf]6f/ k|ltIffno hfnL eg]{ 50000
3.16 ;Nn]af; k|ltIffno lgdf{0f 50000

3.17 uf}/LufpF ;fd'bflos ejg lgdf{0f 200000
3.18 9':s] x]Ny o''lg6 vfg]kfgL / alQ 50000

hDdf 2800000

$ jftfj/0f tyf ljkb Joj:yfkg

% ;+:yfut ljsf;,k|jfx / ;'zf;g

s'n hDdf 3450000


